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And if she scorched, why is he liable — 29977 SRR NovooR2 N

OVERVIEW

The X" of the mawn taught that if the flax on the camel caught fire from the candle
in the store and burnt the 777°2, the owner of the camel is liable. The X713 explained
that according to "1 (who maintains M1 Dwn WX) we are discussing a case
where the camel was 7215 71°27 53 nooJon.! The X3 asks, but in the X9°0 it states
that if the "1 had his candle outside the store (and the flax on the camel caught
fire, etc.); the storekeeper is liable for the damage to the 77°2. The question is if the
camel was 777°277 92 ndo30n why is the 21 *1n. Our Moo clarifies the question
and the continuation of the X7n3.

The question of 2°°171 "8 is why -
= 710502 YYHID NN DIV 1923 1Y 22NN 912)N Hya 03 YN 2N

The >19117 should be liable for everything; the owner of the camel should also be
liable together with the 11, since the %237 Hv2 was negligent regarding the 71050 —

mooIn continues to explain that the question (why the *11n is totally liable) is valid only when
we are discussing a case of naodon:>
- YN 93 XY DINPIN SPIDNY 199 191 Y1 >195 XA H90501 KYa IN YaN

However if the case is without nsosen, it is understood why the %n37 v1 is
exempt, since it should not have entered his mind that there will be a candle

outside the store; therefore there would be no liability at all for the na7 9y2 -
- 799910 AND XYY TYON X NIDIDNI NINPINT 1 YN

However since we established the 7i1wn in a case of nowvsen; it would be

impossible that the %371 %v2 should not see the fire -
= 19PN 797 N9%2N U5 NIDIVNY 15 Y NPLITY 1D

Since it is burning so much that the camel is 7779257 > novoo as it is walking -
- NHDAVM NI MPNYN NN PININY Y 1P

So the 92371 %y2 should have removed the camel and prevented her from

walking and scorching the 77°2. The owner was aware that his camel is continually burning
the 77°2; he should have stopped her.

' See previous Nao20m3a 1"7 MDOMN.
* Seemingly even if it is not N2030ma the 9237 ¥2 should also be (partially) liable for allowing his camel to go so
close to the wall that the flax caught fire from the candle outside the store
? See “Thinking it over’ # 1.
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mooin (offers and) rejects an alternate explanation of the Xn3:
- 597 3501 5137 Yya MmN 290 NNN WY PN YaN

However we cannot explain the X7 to mean why is the 29917 s11117 at all; the bv2
©n»a7 should be liable for everything —

mooIn explains why he rejects this explanation:
- *nbnan Yya "0y 1999 (33 91 YIPY NNT

For later the X 1 asks, ‘and let the owner of the coal [also] be liable’; the

meaning of that question is -
- 15N 1Y RYY 29NNNY 19 W NYNAA S¥a ) YW 2951 Yyaw 9 Yy N

that even though the owner of the dog was negligent (in that he did not prevent
his dog from causing a fire with the n>n3), nevertheless the nvmam H¥2 should also
be liable since he did not guard his n>ma.

mooIN continues to explain the answer of the X7n3:
- TAN DIPN NTAYA NN NDYSN 797 NIDIDNI INY 195 *n1ayws um

And the X3 answered; ‘that the 23 stood’; meaning the 23 was not n>ooo»
while it was walking across the facade of the 77", but rather while it was

standing in one place it burnt the entire 772 -
= YA N9%21 D5 NIDIDNY MNNWNA 79 Y Na9

since it was so laden with the flax that it was n>o59% the entire 13992 while it was

standing in one place. This answer was to explain why the > is 271 -
- 59735 9909 INY MV NN 19U Y21 P49

So the X773 challenged; in that case ‘the 1111 should certainly be 91’5 the X713

did not mean that the 111117 should be completely s -
- 95931 Hya Y 19501 MV 999 KON

* The advantage of this w197 PX is that it fits better in the words of the X713 which states '2m *XnR NJ03012 XY,
indicating that the 111117 should not be 2> at all.
3 In our text it reads 5¥2 1 2»19; which makes nomn point that much clearer.
% This is regarding the ruling in our 73wn that the 2537 9¥2 is liable for burning the w73, See ‘Thinking it over’ # 2.
7 The nomxa %v2 and the 29577 Y¥2 are in the same respective positions as the > (the n2nan 9v2) and the 9na7 Yv2
(the 29571 9¥3). Just like there the Xm3 requires that the nnan ¥a be partially liable (even though the 27377 Hv2 was
ywo), similarly here too, even though the 9137 %v2 was yws, nevertheless the > should share in the liability.
¥ See footnote # 12.
% In our text it reads *1mn7 (instead of >1m1n).
19 After all (even if she was 77mva n2020n), nevertheless the >1man should still also be 21 for placing his candle
outside.
" The nawn states that the >3 is liable for everything. The X3 asked that the 237 9v2 should pay half and the
1m0 half. The X3 answered that the 923 stood in one place. The X3 asked if so then for sure the *1111 should not
pay the second half since the 9237 92 is now even more negligent.
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But rather the X773 meant to ask that the *11111 should be Mvs from paying for the

share of the ®2xm Y¥a. The reason why if it was 772y the Y137 5¥2 is more liable is -
= 219% %92 N2V NN NN IPINYN NT9IYA NIVIVN IMT

For the %13 scorches and damages more while standing in one place than what
she would have damaged had she walked and passed by the 772 without
stopping.

I NN NN DINT D199 HONY NTIYY raum
And the X3 answered, that the camel stopped to urinate, so the 5237 5va is

considered an 91K regarding this stopping. We cannot fault him for this; he could not
move her, therefore the *11111 must pay for everything.

SUMMARY

When the X773 asked 217 *XX *1117 it meant that he should be only partially liable
(not completely liable), and when the X773 asked w5 "1MInT "D it meant 7Wd
onan Hva Hw pona (but not completely Two).

THINKING IT OVER

MooIN explains that the '8 question 217 *RAX N202307 X is only if it was N300,
however if it was not n2030n it would be understood why the *11n is 21 (for
everything)." Is this explanation valid no matter how we interpret the question X1
2°°17 SRR N230D20M3, or is it a valid explanation only if we understand the question of
2717 PRAX N2020M1 °KY the way Mmoo explains it namely that the 137 Yv2a should
share liability with the *1117 (but not according to the w195 Px')?**

2. Is there a way in which we can distinguish'"” between the case of the 23 (where
the n>r7 %2 should [also] be 2»n), and the case of nyoJon (where only the Hva
Snx1 should be 2°1 and not the *1mam)?'°

"2 This is the answer the X3 initially meant when it stated 772vw3 (see 77avwa 7"7 >"wA). The 9237 ¥ is an 01X and
the "11n is a yw1o, therefore the *1min pays everything if he left the candle outside his store.
13 See footnote # 3.
' See TmonT "wnon NN # 114,
15 See footnote # 6.
10 See (1a8 7"72) TP NI AT oY M.
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